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Chapter : Cordinate Geometry

(1) What are the co-ordinates of the centroid of a

triangle, whose vertices are A2, 5), B(-4, 0) and C(5,

4y?

R 0T & Fgar & s a1 g, TaH P A (2,

5), B (-4,0) 3R C (5,4) &7

SSCCGL21AUG-S3 : 66

@ (-1,3) (b) (1,3) (o, -3)
(d)(-1,-3)

(2) Slope of the line AB is -2/3. Co-ordinates of points
A and B are (x, -3) and (5, 2) respectively. What is the
value of x?
WM AB 1 Gellel -2/3 8| foig A 3T B & fordeneh shaar:
(%, -3) 3R (5, 2) & | x T AT FT &2
SSCCGL21AUG-S3 : 67
(@) 4 (b) -14 (c) 12.5

(d) -4

(3) What is the reflection of the point (2, -3.5) in the y-
axis?

y- 3787 W g (2, -3.5) o1 wfdifeid Far 82
SSCCGL22AUG-S2 : 65

(@) (-2, 3.5) (b) (-2, -3.5) (c) (-3.5-3) (d) (3.5,-
3)

(4) Point A divides segment BC in the ratio 1:3. Co-

ordinates of B are (4,-(4) and C are (0,6). What are the

co-ordinates of point A?

fsig A T@rEs BC # 1: 3 & 3e]drd & fasfiora g

B & fA&erieh (4, -4) 3R C & A (0, 6) &1 foeg'A' &

I ere T 87

SSCCGL22AUG-S2 : 66

(a) (-3, 1.5) (b) (-1.5,3)
(d) (1.5, 3)

()3, -1.5)

(5)What is the slope of the line parallel to the line
passing through the points (-2, -1) and (4, -3)?
(-2, -1) 3R (4, -3) [NTg31T & gre TR aTell T o
AT IWT T SelleT TohcleTl 87

SSCCGL22AUG-S2 : 67
(@ 1/3 (b) -1/3 (©-3
(d)3

(6) Point A (11/5,1) divides segment BC in the ratio
2:3. Coordinates of B are (1,-3) and C are (4, y). What
is the value of y?
fdg A (2,1) Y@r@s BC #T 2:3 37d1d # Renfoa axar g1
B & f&era (1,-3) 31 C & e (4, y) ¥ y FT AW
FATE?
SSCCGL17AUG-S1 : 66
(a) 8 (b)y -7 ()-8

(d) 7

(7) At what point does the line 2x + 5y = - 6 cuts the
X axis?
W 2x + 5y = -6 fordy foig Tv X378 1 Frech 87
SSCCGL17AUG-S1 : 67
(@ B0 (b) (0,3) (©)(-3,0)

(d) (0,-3)

(8) If there are four lines in a plane, then what cannot
be the number of points of intersection of these lines?
e T THERTAS (ToleT) H TR AWV &, Y 57 J@T3T &
gfaedeh gt T Tear Far =7¢T g Fehcil?
SSCCGLO09AUG-S1: 68
(4
(d)7

(9) What is the reflection of the point (4, - 3) in the

liney =1?

@iy = 1 # faig (4, -3) &1 gfdfed Har g?

SSCCGL17AUG-S2 : 65

(@4, -5 (b) 4,5 (c) -4, -5
(d)-4,5

(10) In what ratio does the point T(x, 0) divide the
segment joining the points S(5, 1) and U(-1, -2)?
faig T(x, 0), foig S(5, 1) 3R g U(-1, -2) &1 Sits= arel
s ¥ e 31T 3 R e 7
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SSCCGL17AUG-S2 : 66
@2:1 (b)y1:2 (©3:1
(d)2:3

(11) At what point does the line 3x + 2y = 12 cuts the
Y-axis?
@1 3 + 2y = 12 Tohd foig oR Y-3787 Y shrect 82
SSCCGL17AUG-S2 : 67
(a) (0, 6) (b) (0, -6) (©) (6,0

(d) (-6, 0)

(12) What is the reflection of the point (-2, 5) in the
linex =-1?

@ x = 13 [¥a1g (-2, 5) 1 fafdia v g?
SSCCGL17AUG-S3 : 65

(@ (-2,-7 (b) (0, 5)() 2,5) (d) (-2,
7)

(13) Point P is the midpoint of segment AB. Co-
ordinates of P are (3, 1) and B are (5, -4). What are the
co-ordinates of point A?

fsig P X@r@uTs AB &1 #ErT g &1 P o foiderie (3, 1) &
AR B (5, -4) &1 &g A T3 ensh Sar g?
SSCCGL17AUG-S3 : 66

@(-1.,7) (b) (1, -7) @©@0,6  (@(-
1,-7)

(14) What is the slope of the line perpendicular to the
line passing through the points (-5, 1) and (-2, 0)?
(-5, 1) 3R (-2, 0) [Ng3iT o ATLZTH @ TSR aTell 3T
STHSA YT FT TelleT HAT g7
SSCCGL17AUG-S3 : 67
(@ -3 (b) 3 (©-1/3

(d)1/3

(15) What is the reflection of the point (5, -1) in the
liney = 2?
@My =2 # f9e1g (5, -1) T gfdfeT Harg?
SSCCGL18AUG-S2 : 65
@ (5 -5) (b) (-5, -5) () (5, 5)

(d) (-5, 5)

(16) In what ratio is the segment joining points (2, 3)

and (-2, 1) divided by the Y-axis?

faig (2,3) 3R Taig (-2, 1) T SATSe aTell YWTES Y- 3167

AR o 37eTuTeT 3 femTiore femam Sire &7

SSCCGL18AUG-S2 : 66

@1:2 (b)y1:1 (©)3:1
(dy2:3
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(17) What is the slope of the line 2x - 5y = 12?

3@ 2x - 5y = 12 & GelleT BT &7

SSCCGL18AUG-S2 : 67

(@) 2/5 (b) 5/2 (c) -2/5
(d) -5/2

(18) What is the reflection of the point (-3, 1) in the

line x = -2?

@1 x = -2 & e (-3, 1) 1 Fffeia Far g?

SSCCGL18AUG-S3 : 65

@1, (b) (-3,-5) @@,
(d)(-3,5)

(19) The co-ordinates of the centroid of a triangle ABC
are (2, 2). What are the co-ordinates of vertex C if co-
ordinates of Aand B are (7, -1) and (1, 2)
respectively?

FIRITT ABC & sheeh & fadens (2, 2) §1 R C &
fAdens Har €, e A 3R B & Adens waer: (7, -1) 3R
(L,2) &7

SSCCGL18AUG-S3 : 66

(@) (-2, 5) (b) 2, 5)(0) (-2, -5) d @, -
5)

(20) If ax - 4y = -6 has a slope of -3/2. What is the
value of a?
i ax — 4y = -6 T GelleT -3/2 § | a T ATA HAT @IM?
SSCCGL18AUG-S3 : 67
(c) -6
(d) -3

(21) What is the reflection of the point (5, 2) in the line

X =-3?

T x = -3 # g (5, 2) 1 Tl faas Harg?

SSCCGL18AUG-S1: 65

(@ (-11,2) (b) (-11,-2)
(d) (11,2

(9 (11,-2)

(22) What are the co-ordinates of the centroid of a

triangle, whose vertices are A(1, -5), B(4, 0) and C(-2,

2)?

T38ST & hoeh & T2 a1 8, foraeh &hlet A(1, -5),

B(4, 0) 3R C(-2,2) &7

SSCCGL18AUG-S1 : 66

(@ (1,-1 b 1.1
(d)(-2,2)

9@, -2)

(23) Slope of the line AB is -4/3. Co-ordinates of
points A and B are (x, -5) and (-5, 3) respectively. What
is the value of x?
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X@r AB FI gorrT -4/3 fa’gsﬁAsﬂT B & fa&ereh s
(X, -5) 3 (-5, 3) &1 x T AT FAT 72
SSCCGL18AUG-S1 : 67
(a) -1 (b) 2 (0)-2

(d) 1

(24) What is the reflection of the point (4, -3) in the

liney = -2?

@Y = - 2 3 f91g (4, -3) T gfdfeT Har 87

SSCCGL19AUG-S1 : 65

@@ (b) (-4, 1)
(d) (4, -1)

(© (-4, -1)

(25) The distance between the points (2, 7) and (k, -5)
is 13. What is the value of k?
faigait (2, 7) 3R (k, 5) S I gl 13 81 K o1 Al ST
g7
SSCCGL19AUG-S1 : 66
(a) -7 (b) 7 ()6

(d) -6

(26) What is the equation of the line perpendicular to
the line 5x + 3y = 6 and having Y-intercept -3?
39 @ T THIHIOT HIT § Sifeh I@T5X +3Y =6 F

THEad ¢ 3R o Y-ufaase - 387
SSCCGL19AUG-S1 : 67
(@ 3x-5y =15
(c) 3x - 5y = -15

(b) 3x + 5y = 15
(d) 3x + 5y = -15

(27) What is the reflection of the point (2, 3) in the line

y =47

W@y = 4 7 g (2, 3) 1 9fafdia Ham g7

SSCCGL19AUG-S2 : 65

(a) (2, 5) (b) (2, -5)
(d) (-2, 5)

() (-2,-5)

(28) Point P (-2, 5) is the midpoint of segment AB. Co-
ordinates of A are (-5, y) and B are (x, 3). What is the
value of x?
faeig P (-2, 5) Y@RAS AB o1 #ET g 1 A o fadersh (-
5,y) 31X B & fA&RAH (x, 3) &1 x I AT HAT §?
SSCCGL19AUG-S2 : 66
@ (b) -1 (c)2

(d) -2

(29) What is the equation of a line having a slope -1/3
and y-intercept equal to 67

gl -1/3 3R y ufaase 6 aTell YW T THHIUT HIAT &7
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SSCCGL19AUG-S2 : 67
(@ x+3y=18
()x+3y=-18

(b)x-3y=6
(d)x-3y=-6

(30) What is the reflection of the point (5, -2) in the
linex =-1?
W1 x = -1 7 f9e1g (5, -2) T TS T gram?
SSCCGL19AUG-S3 : 65
@ (-7,-2) (b) (5,0 (@ (7.,-2)

(d) (5,2

(31) Point A divides segment BC in the ratio 4:1. Co-
ordinates of B are (6, 1) and C are (7/2, 6). What are
the co-ordinates of point A?
f8=1g A TGOS BC &1 4 : 1 3701 # fasTiored ohea &1
B & fa¥denh (6,1) 3R C & (7/2, 6) €1 Teoig A o fr&erien
HATE?
SSCCGL19AUG-S3 : 66
(@) @,3) (b) 4,5) (@ @2,5)

(d) 3,5)

(32) What is the slope of the line parallel to the line
passing through the points (5, -1) and (4, -4)?
(5, -1) 3 (4, -4) [NG3T & ATZH § TR aTell 16T
ATHTAR 3@T T SATel HT 872
SSCCGL19AUG-S3 : 67
(a) -3 (b)-1/3 (03

(d)1/3

(33) What is the reflection of the point (3,-5) in the

origin?

el # f9e1g (3, -5) 1 wfdfeid Harg?

SSCCGL20AUG-S1 : 65

(@) -3, -5 (b) 5,-c (c) -5,-c
(d)-3,5

(34) Point P is the midpoint of segment AB. Co-
ordinates of P are (5, -1 and A are (2, -4). What are the
co-ordinates of point B?
feig P Y@ras AB &1 e faig &1 P o foiderien (5, -1) 3R
A TAERMTR (2, -4) B | Toig B & e ar g?
SSCCGL20AUG-S1 : 66
(a) 6, 4 (b) 8,2 (91,2

(d) -6, -2

(35) What is the slope of the line perpendicular to the
line passing through the points (-2, 3) and (2, 0)?
(2, -3) 3R (2, 0) fereIg3iT & ey § R arell T@r

AT TGaTeN Y@ HT S[HTT FHAT &7
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SSCCGL20AUG-S1 : 67
(a) 4/3 (b) % (c)-3/4
(d) -4/3

(36) What is the reflection of the point ( -3, 2) in the

line x = -2?

@ x = -2 7 &g (-3, 2) 1 wfafda Har g

SSCCGL21AUG-S1 : 65

(@ -3,-6 b)1,2 (©-3,6
(d)-1,2

(37) Point P is the midpoint of segment AB. Co-
ordinates of P are (1, 3) and A are (-3, 8). What are
the co-ordinates of point B?
fSig P X@ras AB &1 #Er féig &1 P o faiderien (1,3) 8 3R
A% (-3,8) &1 Tdig B o frderien s g2
SSCCGL21AUG-S1: 66
(@-5,-2 (b)-5,2 (©5,2

(d)5,-2

(38) What is the slope of the line perpendicular to the
line passing through the points (3, -2) and (4, 2)?
(3, -2) 3R (4, 2) Teig3it & ATEIHA & TR dTell T@T &
3TfHorAE @1 & Gl HAT8?
SSCCGL21AUG-S1 : 67
(a) ¥a (b) 4 (c) -4

(d)-1/4

(39) What is the reflection of the point (6, -1) in the

liney = 2?

@y =2 & g (6, -1) T Tiaifea ar &2

SSCCGL21AUG-S2 : 65

(@ -2, -1 (b)-6,5 (6,5
(d)-2,1

(40) Point P (8, 5) is the midpoint of segment AB. Co-
ordinates of A are (5, y) and B are (x, -1). What is the
value of x?
f31g P (8, 5) YWTEUTS AB &1 #tY f3e(g §1 A & fders
(5,y) 3B & (x, -3) &1 X T AT HAT§?
SSCCGL21AUG-S2 : 66
(@) -11 (b) 11 (o7

(d) -7

(41) What is the equation of a line of slope 1/3 and y-
intercept 57

&alteT 1/3 3R y — ufcasse 5 i veh YT & THIFHIOT HT
9T I3g |
SSCCGL21AUG-S2 : 67
(@ x-3y=-15

() x+3y=-15

(b)x -3y =15
(d)x +3y =15
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(42) What is the reflection of the point (-1, 3) in the
line x = -4?
T x = -4 AT &g (-1, 3) 1 yfafdia Har g?
SSCCGLO6AUG-S1 : 65
(@) (-7.,-3 (b) (-7.3) (0 (7,-3)

(d) (7.3)

(43) The co-ordinates of the centroid of a triangle ABC
are (1, -4). What are the co-ordinates of vertex C if
co-ordinates of A and B are (3, -4) and (0, 5)
respectively?

33T ABC & dhgeh & aiderias (1, -4) 81 R AR B &
fA&eres e (3, -4) 3R (0, 5) &, ar MY ¢ & Wderi=
HATE?

SSCCGLO6AUG-S1 : 66

(@) (0, 13) (b) (0, 5) (©(0,-5) (d) (0,
-13)

(44) ax + 5y = 8 has slope of -4/3. What is the value of
a?
ax + 5y = 8 FI TalleT -4/3 &1 a T ATA HAT &2
SSCCGLO6AUG-S1 : 67
(@) 20/3 (b) 3/20 (c) -20/3

(d) -3/20

(45) What is the reflection of the point (-1, 5) in the
linex =1?
T x = 17 g (-1, 5) o1 yfafea Far g2
SSCCGLO6AUG-S3 : 65
(@ (3,-5) (b) (-3,-5) (93,5

(d) (-3, 5)

(46) What are the co-ordinates of the centroid of a

triangle, whose vertices are A(1, -5), B(-4, 0) and C(3, -

4)?

81T & hegren & ACRITeh 4T €, TS et A(L, -5), B(-

4,0) AR C(3, -4) &7

SSCCGLO6AUG-S3 : 66

(@ (0,3) (b) (0, -3)
(d) (0, 5)

(@ (0, -5)

(47) Slope of the line AB is 4/3. Co-ordinates of points
A and B are (x, -5) and (2, -3) respectively. What is
the value of x?
@1 AB T elleT 4/3 8| faigait A 3R B & faderieh shaer:
(x, -5) 3R (2, -3) &1 x T AT FAT §7?
SSCCGLO6AUG-S3 : 67
(@) 2 (b) -1/4

(d) -4
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(48) What is the reflection of the point (-4, 3) in the

line x = -2?

@ x = -2 7 1g (-4, 3) T AcTeld FATE?

SSCCGL23AUG-S3 : 65

(@ (-4,-7) (b) 4,3) (©(0,3)
d)(-4.7)

(49) Point A divides segment BC in the ratio 5:1. Co-
ordinates of B are (6 ,-4) and C are (0,8). What are the
co-ordinates of point A?

fiig A X@rEs BC %1 5:1 37ard # fAfAfSia #ecarg 1 B &
fordena (6, -4) § 3R C & (0, 8) & Ifig A 3 ierian T
g7

SSCCGL23AUG-S3 : 66

(@) (-1,6) (b) (1, -6)

(©(-1,-6) (d)(1,6)

(50) What is the slope of the line parallel to the line
passing through the points (3, -4) and (-2, 5)?
(3 -4) AR (-2, 5) [Swg3il & oA aTell TG & FeleAick
T I Tellel &7 &7
SSCCGL23AUG-S3 : 67
(@ 9/5 (b) -5/9 () -9/5

(d) 5/9

(51) What is the reflection of the point (3,2) in the line
y =-27
W@y = -2 # 1§ (3,2) w1 wiafda T g 2
SSCCGL20AUG-S2 : 65
(@-7,2 (b)-3,-6 (©-7,-2

(d)3, -6

(52) What is the distance between the points (3, 6)
and (-2, -6)?
faig (3, 6) 3R (-2, -6) o forar o g0 fevcein & 2
SSCCGL20AUG-S2 : 66
(@) 15 (b) 13 () 11

(d) 12

(53) What is the equation of a line which has 3 as x-
intercept and -5 as y-intercept?

Teh {W@T & GHIFHIOT T 9T o9y, TFTehr x-ufazee 3
IR y-ufaede 587
SSCCGL20AUG-S2 : 67
(a) 3x - 5y = 15

(c)5x +3y =15

(b) 5x - 3y = 15
(d) 3x + 5y = 15

(54) What is the reflection of the point (5, 3) in the line
y =-2?
@y = -2 # g (5, 3) &1 wiafde = g2

Free Study Material Join: Telegram.me/ExamsCart

SSCCGL22AUG-S3 : 65
(@-9,3 (b)-5,-7 (©-9,-3
(d)5,-7

(55) The distance between the points (4, 8) and (k,-4)
is 13. What is the value of k?
f3ig (4, 8) 3R (k, -4) & Srer r gl 13 ¥ k 1 #AT FAT 87
SSCCGL22AUG-S3 : 66
(c) -1
(d) -3

(56) What is the equation of the line perpendicular to
the line 2x + 3y= -6 and having Y-intercept 3?

2x + 3y = -6 @M & forw 3iffees 3R y-ufacse 3 gt
aTelY IWT & FHIGHIOT T T &7

SSCCGL22AUG-S3 : 67
(@3x-2y=6
(c)2x-3y=-6

(b)3x -2y = -6
(d)2x-3y=6

(57) What is the reflection of the point (6, -3) in the

liney = 2?

@y = 2 # feig (6, -3) 1 Gfdfes T §?

SSCCGL23AUG-S1 : 65

(@-2,-3 (b)6,7 ()-6,7
(d)-2,3

(58) Point A (4, 2) divides segment BC in the ratio 2:5.
Co-ordinates of B are (2, 6) and C are (7, y). What is
the value of y?
g A (4, 2) Y@rE@s BC &1 2:5 % & fasnfoid sxarg | B
& g (2,6) 3R CF (7, y) &l y FT AT FATE?
SSCCGL23AUG-S1: 66
(a) 8 (b) -8 (06

(d)-6

(59) At what point does the line 2x - 3y = 6 cuts the X

axis?

3@ 2x - 3y = 6, x 3767 i fehay foig oq shrect 82

SSCCGL23AUG-S1 : 67

(@-3,0 (b)0,3 (©0,-3
(d)3,0

(60) The point P(a, b) is first reflected in origin to P1
and P1 is reflected in Y-axis to (4, -3). What are the
co-ordinates of point P?
f8=1g P(a, b) Te e el W P1 W uffeifad gar g, i p1
Y — 31T # (4, -3) AT g 1 g P & faydere sar
&
SSCCGL22AUG-S1 : 65
(@)4,3 (b)-4,3 (©93,d

(d)-3,4
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(61) In what ratio is the segment joining (-1, 3)and (2,-
4) divided by the Y axis?
-1,3 3R 2, -4 TS=Ig3it 1 Siget aTel TWEs T Y 3767
forer 3reyorer 3 Rramfora awar &2
SSCCGL22AUG-S1 : 66
(@2:1 (b)1:4 (©1:2

(d)4:1

(62) What is the slope of the line 2x + 3y = 127

T 2 + 3y = 12 T SJehTd HT &7

SSCCGL22AUG-S1 : 67

(@ 2/3 (b) 3/2 (c) -3/2
(d) -2/3

(63) What is the reflection of the point (5, -2) in the

liney =-1?

@iy = -1 g (5, -2) 1 yfafe &1 87

SSCCGL23AUG-S2 : 65

(@ -7,-2 (b)-5,0 (©5,0
(d)-7,2

(64) The co-ordinates of the centroid of a triangle ABC

are -1, 4. What are the co-ordinates of vertex C if co-

ordinates of Aand Bare -3,-1and 3,5

respectively?

FIHIUT ABC & shgeh & 62 (-1, 4) &1 i C &

f&ens aFar gier, afe A iR B & e sasr: -3, -1

33,582

SSCCGL23AUG-S2 : 66

(@-3,8 (b)3,8 (c)-3,-8
(dy3,-8

(65) ax + 3y = 6 has slope -2/3. What is the value of a?
ax + 3y = 6 I Gellel -2/3 & a T AT FAT 57
SSCCGL23AUG-S2 : 67
(a) -2 (b) 2 (03

(d)-3

(66) What is the reflection of the point (-0.5, 6) in the
X-axis?

x- 3187 0 g (-0.5, 6) T FfcTaier T 87
SSCCGL20AUG-S3 : 65

(@) (0.5, -6) (b) (-6, -0.5)

(c) (6, -0.5) (d) (-0.5, -6)

(67) In what ratio does the point T(x,0) divide the
segment joining the points S(-4,-1) and U(1,4)?

S (-4, -1) 3R U (1,4) fSig3it T Sitget arel t@ras i fig
T (x, 0) foher 37egarer & fasmiore e &2
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SSCCGL20AUG-S3 : 66
@1:4 (b)4:1 (©1:2
(dy2:1

(68) At what point does the line 2x - 3y = 6 cuts the Y
axis?
2x - 3y = 6 YWY 3187 i T Foig o) ahrecdr &7
SSCCGL20AUG-S3 : 67
(@ (0,2) (b) (-2, 0) (920

(d) (©, -2)

Answer Key

1 |B2 |C[3 [B|4

6 [D[7 |C|8 [D|9

111A|12(B[13|C|14

16|B[17|A[18|A[19

21|A[22(A|23|D[24

26(A[27]|A|28|A[29

31|B|32|C|33|D(34

36|D|37|D|38|D(39

>IOojw|>[(O(>|Nn]|w|[Nn

41|A[42

43(D44

46|B|47|A[48|C(49

51(D[52(B|53(B|54

56|B|57|B|58|B (59

Nmo|w[>|o|/w[>[>|w[>]O
FACAEARCIEF IR
Nmmw[A|o[/Oo[O[> O[> [0]O
WP OO0 W [(>(>|(wm|a[a|w|w

>|0[0 |0

61/C|62|D|63|C|64

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

le6|D]67|al68|D|

()

2x + 5y = -6 cut x-axis
At x axis y=0

Put y=0 we get

2x=-6

X=-3

Point=(-3,0)

(8)

If we draw 4 lines, then the no. of possibility by using options.
= no intersecting point

Solution

M
Cenriod=(x1+x2+x3/3,y1+y2+y3/3)
(2-4+5/3),(5+0+4/3)

(1.3)

@)

Firstly slope ,=y2-y1/x2-x1=5/5-x
=>15=-10+2x

=>x=25/2=12.5

3)

el
S T
(5, 1) (%, 0)

° We know,
C _ 1x1-2k .
(X.Y) (0, 6) O0=— k=%
m:n=1:3
_ mxp+nxy _ 1X0+3%xX4 3

* Required ratio = 1:2

m+n 4
_my;+ny, 1Xx6+ 3x(—4) =15 a1
m+n 4 ’ at y-axis, x =0

co-ordinate of A = (3, -1.5) 23x0+2y=12
=>y=6
Required point = (0, 6)

©)

mi = m; (for parallel lined)
T P W P
Xo— Xq 442 & 3

(12)
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Refletion Weknow,
, (0,95) Centroid of triangle = (
I:'-E. 5) .9y 2 (?+1 +x —1+2+}-)

3 4 3
=2=>x=-2

X+ Xpp Xz Vit Yoy .‘r"z)
3 ! 3

, THitx

- .1 20)

ax—4y = -6

=>4y =ax+6
=>y=a/dx+6/4
(13) ~ slope = a/4 = -3/2

A E: B ~a=-6
(X, y) (3, 1) (5, -4) 22)
We know,

Reflection

Centroid :( : : =
y-42=1=y=6 1+4 +(=2) —5+0+2
And, = ( 2 P )
o T e R T | =1, -1}

~ A (1, 6) is the required coordinate

Xyt Xy tXy Vit Vot 3'3)

(23)

(14) ATQ

Slope of line passing 3 - (-5)/-5-x = -4/3
Through (—5, 1) and (-2, 0) 8x3=-4 (_5 A X)
m1=(0—1)/(—2+5)=—1/3 24 = 20 + 4x

Slope of perpendicular line=1/m,= = 3 X =1

(16) 24
K:1
(2, 3) 0,y) (-2, 1)
Let the ratio be k: 1.
By section formula,
2k +2/k+1=0
2k+2=0
K=1
~theratiois 1:1

(17)

2x -5y =12

Y =2/5x-12/5

Compare the above eqn. withy = mx + ¢
=~ Slope (m) = 2/5

(19)
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(25)
We know

Distance b/w two points = \/(x, — x,)2 + (y5_ ¥4
=13 = /(k—2)2+ (-5—7)?

=169 = k? + 4— 4k + 144

=k -4k-21=0

>k?-7k+3k-21=0
>kk-7)+3(k-7)=0

=>k=-37

(26)

3y = 6 - 5x

=>y=-5x/3+2

Slop of line, m1 = - 5/3

Slope of line perpendicular to this will be, m, = 3/5
~ Required equation,

(y+3)=3/5(x-0)

= 5y + 15 = 3x

=3x-5y=15

31

B
6, 1)«

A

*
P
~

4 —>

Given that,
By section formula,

; 4X§+1X6 4x6+1x1
Point A = - ,
4+1 4+1

= (4.5)

(32)
Slope = (y-—y)) / (X2 =x) = (-4 + 1) / (4-5) = 0
(34)
El ® L
A P B
(2, -4) (5, -1) (X,
P is a mid — point
2E2 = 8 and T2 =1
2 2
X=8andy=2
=~ B(xy) = (8 2)
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35)
Slope of given line ;:2) = _TS

=~ Slope of L line = 4/3

S L Ed
A P
(-3. 8) (1.3)
So, if Pis the mid point
=P (1, 3)

_xytx,

_ =3+ x,

2 2
_ Yty 8+y,

2 2

(40)
ATQ5+x/2 =8andy-3/2=5
x=1Tandy =13

(41)

Eqgrofline= (y-5) =1/3 (x-0)
3y-15=x

X-3y=-15

(52)

Distance between the point = /(-2

(53)
Putx = 0 thany = -5, and put y=o thanx = 3
So, only option (b) satisfied the condition.

(55)
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ATQ Let the ratio be K:1
J(—4—8)2+ (K —4) =13 ;

144 + (K - 42 = 169 By section formula
(K - 4)2 = 25 2k-1 _ 0

(K-4) = +5 k+1
K—4=50RK—4=-5 Ko
K-9ork=-1 2

K = -1 {as it is given in options) ~ The required ratio = 1:2

(62)

2x + 3y =12

y=-2/3x+4

Compare the above Eqn. withy = mx + ¢
~ slope (m) = -2/3

(56)

Slope of given line = -2/3

Slope of L line=(y-3) =3/2(x-0)
= 2y-6 = 3x

=3x-2y=-6

(61)
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